SN lolE 29

4

CI0JE 22F 7HE

@EOIENS (x,, X, . . .,
o SULt

ro
fol

x BEICN 38 A
EHO)0|Ct.

x B0 Ciet HE === HE, U[0[H2 22
HIAE! 2= Q)=0| f(x)= T12H= graphical 22f
O Z2EH 240{ CHet M E = ==X}t numerical

Qofo= H=Ct

x A YHUEM HO|H SR <A,
L ER U, Y ViR L

B0 Z20|| w2} QokH0 | HsHZICE

XMM™ B4 qualitative, categorical

HMHFY HXO0|H)E HEY, &M (=M JUs HEH)OZ M2} E[X|2HEHA 2
M= SYsHEHHO| M =ICY
HMX 0B = 71 = Q= 42| (= category)0| RetetE 2 2 0| I frequency

2 A2 FolotAL Je == LIEERHH EICf

(o]l

* BRI frequency : CI|O|E{0f|M SgH == 20| Hh=El 7l

:

+ ATHEIE relative frequence : BI=Z H|0|& 37| 2 LKz 24 => H|Z proportion (p, p)

PET Type Count Rel. Freq \b l S b

+ ZH 0| | MTHEIC (H|E ratio) 7t 82? %g [
%‘JEIE_HZ}. Fish 8
Other 4
¥ HIETE ACHHIE (=H|8 = 2256t Totals 56

+) E M2l

« [Ofix| HOE{] A£FI0| M4~ Bt ot MTHEIES A5 |2, [ 0| &]

shoiTistn SHstT AMEDS (1)


http://wolfpack.hnu.ac.kr/Stat_Notes/example_data/baseball.csv

ofm
N
™
0z
123

HIO|E 29

) Atlanta Baltimore
Atlanta Baltimore 0.03416149  0.04658385
Cinci nnai% C'Ieve'lar1|3 Cincinnati Cleveland
12 12 0.03726708 0.93726708
Los Angeles Milwaukee -0s Angeles Milwaukee
1 14 0.04347826  0.04347826
oakland Philadelphia Oakland Philadelphia
12 12 0.03726708 0.03726708
Seattle St Louis Seattle St Louis
12 11 0.03726708 0.03416149
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(2) LMK box whisker plot
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Variables Numerical Graphical | Parametric Non-
description | description test parametric test
Frequencies 2
: 5 Chi-square for a
. (one-dimensional | Bar plot i —
nominal contingency Pie chart oni. dlmens?r:ja;l
table) contingency table
Descriptive Histogram Student’s t .
scale ctatictics Bosnlot for one Sign test
P variable

nominal X, scale £, descriptive statistic : 7 |= E7|2F
[0{|A| Cl|OE] MaZ2| 21 S(salary) CIO|E] 025101 CRE2 164 |2, [2A 0|&]
1) LIRAXOE, SIAETOMS TJ2|10 siAdskA |2,

U AH(IUN) 4428 U5UE(N) Hae0a

2) F=Q S T

> summary(as.numeric(ds$salary))

Min. 1st Qu. Median Mean 3rd Qu. Max.
1.00 12.25 63.50 64.17 108.75 150.00
> sd(as.numeric(ds$salary))
[1] 49.20608
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Z=Ot7¢
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e fAw: A v =4 203494.85
__________________________________ He 3.06
(2R aPrl@] sRIR 2S00 o8 #E A= 1.59
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x| gt 68.00
Z|CH gk 2460.00
e 140959.00
HEF 263.00

sheistm SAsta AM s ne (10)



SN it CilO[E 29F
S Holy &M [AEJ™ ? X
24 =74 b ol
SAEM. 29 HYX| N ol o). SVE2:$v$323 e -

B4 EA: vhe QL of Y HX| , e
i B B GE OlE HXY (A=S 2 $z$1082619 N
AbD} HM
T M Colg=w E2UH)
Tl EA4Y
X4 Ty g3 &4
F-A%d: 24of st & &G =3y & : e
Zajof 24 i el =
S|lAET3H v ® MZ2 YIAIEP):
O ME2 ET E2MW)
O ot E: X8 S| A= (A)
(== d428m)
M xtE #3(Q)
AZ  MEs o
250 93 N
500 58 S|AETEH
750 50 1o
1000 32
1250 11 &4
1500 8 60
H
1750 2l o &
2000 6 wblE
2250 1 20 +
2500 2 0
7|E|» 0 250 500 750 1000 1250 1500 1750 2000 2250 2500 7|E|>
Ag
LI AXFO2(7| : A 20160 ME SEHRIE L/
Alelol 3110 i3 1 Sl [
= W il T e | @ .
L L, mEixkE 3p 0T
NE @ i e )
AE o B0
EA XE oY
0| XtE ZEFE AFE3IE H0|H <2
H EA Mg & & A&LCH
CHE Z52 84 AEE =223{H
IHEEE 2250 ito._'Eis

Ot0| 2 &0 &2 A0 0|2
27|17t AU

(1



